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[HaEZ] Z=AXY
gt 849 Hagh e HAE K& HAUE
CH=2 -ee- 1 75 10.4 10.4
q3E - 2 180 25.0 25.0
Ak 3 63 8.7 8.7
= 4 37 5.1 5.1
=4t 5 56 7.8 7.8
=3 6 78 10.8 10.8
& oA 7 b5 7.6 7.6
=& 8 52 7.2 7.2
A= 9 125 17.3 17.3
2 Al 721 100.0 100.0
[H==018] type
[(HaEZ] HE=2F
Hgt 49 Hagh e HAE K& HUE
0l 1 103 14.3 14.3
20 2 195 27.0 27.1
At 3 233 32.3 32.4
T 4 189 26.2 26.3
ANAE HEgl-- : 1 0.1
2 A 721 100.0 100.0
Ct=2 Aot IEAE O &8t 22 LICH Olot == A0 Aol M2 DHE DRt
2 X0l VEE =& A2
FHote M HI 27
[H==018] Al
(H=EZ] SEXAHS
Hgt 849 Hagh =l HAE RS HMUE
OIDL(SJH%OILH) et teeeeeeereeeieeaerieeaaraaeas 1 82 11.4 11.4
O|E(37H%O|é!) 2 21 29 29
%'DL(S]H%OH.H) 3 81 11.2 11.3
%'DL(33H%O|€¥) 4 114 15.8 15.8
é*DL(SJH%ONH) 5 78 10.8 10.8
é*DL(BjH%OVé!) 6 155 21.5 21.5
4\—E(3]H%O|LH) 7 66 9.2 9.2
_J'\_DL(SJH%OM\D}) 8 123 17.1 17.1

1 0.1
2 A 721 100.0 100.0

1/138



(B8] LM (HE)

Wt 4 43t Zlf= HYE 85 HME
2004 & 2004 167 23.2 23.4
2005 2005 379 52.6 53.2
2006 & - 2006 167 23.2 23.4
Al AE jajéa/li .......................................... 8 1.1

8 721 100.0  100.0
[#14015]  Al_1m

(B8] Lo (2)

Wt 8 gt Y= HYE 85 HME
‘l %’é ................................................ 1 66 92 93
2 % ................................................ 2 67 9.3 9.4
3g - 3 55 7.6 7.7
49 - 4 56 7.8 7.9
5 ‘j:’é ................................................ 5 69 96 97
6 % ................................................ 6 34 4.7 4.8
7 - 7 36 5.0 5.1
8 - 8 62 8.6 8.7
9 ‘j:’é ................................................ 9 71 98 100
10 2 - 10 77 10.7 10.8
118 - 11 44 6.1 6.2
128 - 12 75 10.4 10.5
}\lﬁE:iJI Dééﬁ'k .......................................... 9 1.2

=] 721 100.0  100.0
F5tel gt e?

[#i018] A2

[M4se] 22X o

Hoedt €Y Bt gE HUEE R& HUE
19 A 19 14 1.9 1.9
20 Al 20 106 14.7 14.8
21 Al - 21 246 34.1 34.3
22 A 22 221 30.7 30.8
23 Al 23 89 12.3 12.4
24 A 24 27 3.7 3.8
25 A 25 9 1.2 1.3
26 A 26 4 0.6 0.6
27 Al 27 1 0.1 0.1
28 Ml - 28 1 0.1 0.1
}\lj\?:",l Daiéa}t .......................................... 3 0.4

SRl 721 100.0  100.0
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B8 KQ wreerereeereene i e 58 19 2.6 2.6
B KQ wrereeeee e e 59 9 1.2 1.2
BO KQ wrreeerrr e e e 60 46 6.4 6.4
B KQ wrreeereerre e 61 17 2.4 2.4
61.5 kg - 61.5 1 0.1 0.1
B2 KQ rreree e e 62 29 4.0 4.0
B3 KQ wrreeerre e 63 48 6.7 6.7
B KQ woreeeree e e e 64 41 57 5.7
B5 KQ wrerreere e 65 59 8.2 8.2
BB KQ wrereeeee e e 66 292 3.1 3.1
B7 KQ woreeerrerre e 67 29 4.0 4.0
B8 KQ +rreeerrrrrr e e 68 64 8.9 8.9
B KQ rrerrerre e 69 16 2.2 2.2
TQ KQ weeeeeeemene e e 70 58 8.0 8.0
T KQ woreemererre e 71 14 1.9 1.9
T2 KQ wrrevveeerre et 72 25 3.5 3.5
T3 KQ wreveeeeeere e 73 22 3.1 3.1
T4 KQ weeeeeeee e e 74 16 2.9 2.2
TE KQ wrreeeererreeeemne e 75 29 4.0 4.0
TB KQ +orevvererreeeeee et 76 23 3.2 3.2
T7 KQ weevememmemmennenneiniiti e 77 10 1.4 1.4
T KQ weerrrremmrrmmnmee e e 78 11 1.5 1.5
T KQ wreevvvrerreere et 79 7 1.0 1.0
B0 KQ wrrrrrerrre e e 80 24 3.3 3.3
81 KQ srrerrerrerrrr e 81 5 0.7 0.7
B2 KQ srrerrrrrr e 82 2 0.3 0.3
B3 KQ +rrrrre e e 83 4 0.6 0.6
B4 Q +rrrre e 84 3 0.4 0.4
85 KQ srrererrrr e 85 2 0.3 0.3
BB KQ wrrerrerrrrr e 86 2 0.3 0.3
87 KQ wrrrreemrrerre e 87 5 0.7 0.7
B8 KQ wrrrrre e 88 2 0.3 0.3
B KQ rrererrr e 89 3 0.4 0.4
QQ KQ wrerreeee e e 90 1 0.1 0.1
Q1 KQ e e e 91 2 0.3 0.3
Q4 KQ e e e 94 1 0.1 0.1
Q8 K rrerreree e e 98 2 0.3 0.3
TOQ KQ weeeemeemeemenmenmennenneiiii i 100 1 0.1 0.1
ERil 721 100.0 100.0
P5tol U0y ® a0
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[H+4Y] SEU &

gt &Y Bt g HAE Rs HUE
oE - 1 235 32.6 32.6
CH XH 2 442 61.3 61.3
HE - 3 1 1.5 1.5
tst&0lef 4 1 0.1 0.1
IIEF - 5 32 4.4 4.4
E2gil 721 100.0 100.0
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[H==018] L19

[H=EE] Y %0l 22 Wl HS

gt &Y Wt g HUE R HUE
Ol T2 (BIHE OfLH) soevervrrrrmmeremeemnneeneees 1 124 17.2 57.9
Ol TR (BIHE O] A sooveemmneeriieiiiee ) 30 4.9 14.0
QUTI(BIHE OJLH) covvrrrreermmeiierennneee, 3 39 5.4 18.2
QUTI(BIHE QAL cooveemrniiiii 4 12 1.7 56
E T T T PP 5 7 1.0 3.3
SNTINRILEREEEE 6 2 0.3 0.9
A AED 2TZDE it 507 70.3

2Rl 721 100.0 100.0
7lote A% 22 d&s S0t SEASLII?

[B1==015] L20

[B=&g] Qo d&s st i

Bt €9 Hgt gE HAE R3 HUE
INES 1 37 5.1 17.5
}HE - 2 86 11.9 40.6
SFEE B veenniinenteee e 3 89 12.3 42.0
A AED 2TZQE et 509 70.6

Al 721 100.0 100.0
7lotsE ?12 &0 2t 22 25t XS E 22 HO0l AsULIH?

[H==018] L21

[H=EE] A2 a0 28t Z2U2 AL H

gt &Y Bt g HUE R& HUE
Xzgt H glth - 1 169 23.4 87.6
NARZ(A=0AM & 2 S) 2 7 1.0 3.6
O[S QR wvvvrrerereemmrrmmennereaeennnmnnne. 3 3 0.4 16
KON B 0SS 4 3 0.4 1.6
JIEF -=eve 5 11 1.5 5.7
A AED 2TZQE et 528 73.2

Al 721 100.0 100.0
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